
BCHM 485  Exam #1 equations (tentative)     March 13, 2025 
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Some equations and formulae that might or might not be useful: 
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me = 9.1 ×10-31 kg 
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mp=1.67 ×10-27 kg; 1 amu = 1.66 ×10-27 kg 
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ˆ ˆ ˆˆ ˆ ˆ,A B AB BA  = −  ;     1 ˆ ˆ,
2

A B A B ∆ × ∆ ≥    

( ) πφθ 4/1,0,0 =Υ ; ( ) ( ) θπφθ cos4/3, 2/1
0,1 =Υ  

( ) ( ) φθπφθ ie±
± =Υ sin8/3, 2/1
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( ) ( ) ( )1cos316/5, 22/1
0,2 −=Υ θπφθ  

( ) ( ) φθθπφθ ie±
± =Υ sincos8/15, 2/1
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( ) ( ) φθπφθ ie 222/1
2,2 sin32/15, ±

± =Υ  
 

 
 
Helpful Math: 
 

 

ααα sincos iei += ; 
2/)(cos ααα ii ee −+= ; iee ii 2/)(sin ααα −−=  

ααα cossin22sin = ; ααα 22 sincos2cos −=  ; 
αα 2cos1sin2 2 −= ; αα 2cos1cos2 2 +=  
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